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Note :

1. This question paper has 100 questions. Each question carries 2 marks. All questions are

compulsory.

2. Read carefully instructions regarding method of answering questions given on the back side

of the OMR Answer-Sheet and indicate your answers on the OMR Answer-Sheet provided.

3. Use of any type of Calculator or Log table, Mobile phone and Smart watch is prohibited.
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1. What is

Direction for Question Nos. 1 and 2 :

The given bar chart shows the sales (in
thousands) of sets of television of three

companies in three years :

T

E]
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T 475 an

o e e ey oy g e ]

LY
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SAMEUNG ONEPLUS

E B 8

2018 2019 2020

REALME

the difference between

SAMSUNG efifasr i i faser & the average sales of televisions of
e 3T & ? REALME and SAMSUNG for three
(A) 8l years?
(B) 99 (A) 8l
(B) 99
(C) 104 © 104
() 75 (D) 75
2. afk 2018 # ONEPLUS gm 9fa . If profit earned per television by
et aafsia @y ¥ 946 o1, 1 2018 ONEPLUS in 2018 was T 946, then
& S fSid Fe Y I Hife find the total profit earned during
(A) ¥6,53,222 2018 :
(B) 635712 (A) %6,53,222
(B) ¥6,35,712
(©) T6335318 (C) %6,35318
(D) % 6,53,572 (D)  6,53,572
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uy4 H. 3 4 5 ‘% g frdor

Ui w1 i iR T SATEE S
i vl % v € wr foafoemea 9 9
Y- faual § et 1 wiawa faaw
g <id & Taeiar van & 1 Al =t gror wem
800 2 :

3. i ol sfaem o ufeen sl &
e ¥ 1 A e ?
(A) 36
(B) 48

(C) 42

(D) 54

Dircetion lTor Question Nos, 3 to 5 :

Study the pie chart and the table carefully
and answer the questions. The percentage
distribution of lecturers in five different
subjeuls iu a university is shown in the pic

chart. The total number of lecturers is 800 :

22%
Chemistry

20%
English

Lecturers | Male : Female
Maths Te3

Chemistry 6:5
English 4:1
History LM
Biology 3l

3. What is the difference between the
number of female lecturers in English

and History?
(A) 36
(B) 48
(C) 42
(D) 54

2-D
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4. Tavafaeme & fodt TarE | e ™ 4. For an event of university, only
IR Wi fage % seEd] w1 gifad lecturers of Mathematics and Biology
AT ® | 39 WORE ¥ 1o % oy Al have to participate. Find the ratio
=1 g 1 <ie fagm % I e $ of the number of male lecturers of
g ST T T Mathematics to the number of male

lecturers of Biology in this event :
(A) 5:4
(A) 5:4
B) 4:3
(5) (B) 4:3
(5 B3 C) 8:7
(D) 7:3 (D) 7:3

5. Tt wore o #aw wWEe fage eiw . Inan event only lecturers of Chemistry
e & o #f fnfaa g g 159 and History have to participate. In this
gy ¥ A faam o gieen = event, the number of female lecturers
&1 He 3Ry | g%y oFadll @ e in Chemistry is what percent more
&1 gorn  foremt wfowre afusm # 2 than that of male lecturers in History?

I 1
(A) 33-% (A) 33-%

3 3
(B) 60% (B) 60%
(©) 6629 2

3 . (C) 665%
D) 30% D) 50%

2-D [5]



6. T agYS Tk Tociars gi fafi= ot

IEA el — ™

a0
a0
vn

60

50

401

i}

20 =

10

H Hhe &1 @i S9h §

1 73

L 45
L ¥

2015 2016 2017 2018 2019 2020 2021
o —

74 2016, 2018, 2020 3R 2021 ¥ 3w
Y] T I ot ?

Success Rate —a=

6. The frequency polygon shows the
success rate by a batsman in different

years :

T3 T2

0 ) t } 1 i f .
2015 2016 2017 2018 2019 2020 2021

Year —»
What was the average failure rate in
the years 2016, 2018, 2020 and 20217

(A) 37% (A) 37%
(B) 40 (B) 40%
0
(C) 43% ) 43%
(D) 33%
(D) 33%
7. FefafEa @ 8 sF-w ¥en § W gaen 7. Which of the following numbers will
4 gy fag (?) =t wfaeenfya wat ? replace the question mark (?) in the
. -
13, 42, 129, 390, ?, 3522 gIVEn SeTies:
: 13, 42, 129, 390, ?, 3522
(A) 978
(A) 978
B
v L . (B) 1173
&) 1215 (C) 1215
(D) 1049 D) 1049
2-D [6]
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ATEFEF D, 14 T H w0 ¥ 155
5

o2 B I9Y 9T wEl ¢ iR < e
T W 6 oA H qu e ¥ | B st
T FHM 1 Tohad feq o e Hahar 8 2

(A) 42 feF
(B) 36fed
(C) 49fe=

(D) 35fg9 -

90 fermit./He &1 TRR | Sedt UF ¢
U =Afa A1 24 Yohve § I FHL G 6 |
Al 7 A g T g% ¢, fowe! A
Tt ¥ 40% 31 €, F FHa w9 o

I & e 2

(A) 52.4 FFve
(B) 50.8 4%vE
(C) 57.6 8%
(D) 482 F=vE

8. A does E

of a work in 14 days.
5

Then B joined him and they together
completed the remaining work in
6 days. B alone can finish the whole

work in :

(A) 42 days

(B) 36 days

(C) 49 days

(D) 35 days

. A frain running with a speed of

90 km/h crosses a person in 24 sec.
Then in how much time this train
crosses another stationary train whose
length is 40% more than the length of
previous?

(A) 52.4 sec

(B) 50.8 sec

(C) 57.6sec

(D) 48.2 sec

2-D
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10, 7= d ¥ &g Aei-99qg w1 Herst 10, Which group of shapes can be
A feu TT SR w1 Ha © 7 assembled to make the shape shown?

S

(A) (A)

H a
-—

(B)

5\

.l N

©) (©)

N\

(D)

4 @Em
A N
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11.

12.

T, XYZ T aaeni s § fome vz
w0 & dar 18 . ¥ ARG XT, YZ
R waad g, O XT @i Aferad @9ifad
ware (. 9 ) ?

(A) 62
(B) 8

©) 63

(D) 9

A ABCH, 4, B 3R C § @4 7T &«
A fog X, ¥ 3R Z R fawda oqensdi
Y foe &1 AX, BY &R CZ fig O W
it F1 € 1 3fK LX0Z = 130° % 3R
/:Aaﬂuc%vﬁﬁ}amﬁgpmﬁaﬁ

g W L4PC="
(A) 125°
(B) 115°
(C) 110°

(D) 130°

11.

12.

Let XYZ is a right-angled triangle
with hypotenuse YZ of length 18 cm.
If XT is perpendicular on YZ, then the
maximum possible length of X7 (in
em) is

(A) 62

(B) 8

©) 63

(D) 9

In A ABC, the perpendiculars drawn
from 4, B and C meet the opposite
sides at points X, ¥ and Z respectively.
AX, BY and CZ intersect at point O.
If ZXOZ = 130° and the bisectors of
/A and ZC meet at point P, then

/APC="1
(A) 125°
(B) 115°
(€) 110°

(D) 130°

2-D
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13. ST | 494 BEI A " giw S | udten 13. 494 students took a mock exam in
F 539 Tt dR 79% creiFd ¥ T Bangalore. 53% of the boys and 79%
i T e At st o = g - of the girls cleared the cut-off in the

examination. If the total percentage of
W 68% , T e # T < el students qualifying is 68%, then find
EEERIEIRCIECENIELE the number of girls appeared in the
(A) 285 examination :
®B) 315 (A) 285

(B) 315
(C) 270

(C) 270
(D) 255 (D) 255

14. 9% a, b, ¢, d AfEAE %A H z 14. Ifa, b,c,dare in geometric progression,
R (ab + be + cd)? - (@ + B+ ) then value of (ab + bc + cd)® -
(B2 + 2+ ) &1 TF B ; (@® + b% + c?) (b* + >+ dP) will be :
{A) 0 (A) 0
(B) 1 (B) 1
(C) -1 (€ -l
(D) 379 & ®i3 &1 (D) None of these

15. U& g% &1 3ifwd ged @nrd god T 50% 15. The marked price of an article is 50%
fas & | 59 aifea | T 25% @i 9§ above cost price. When marked price
Bt © i okt qoa © 20% =it 9 g is increased by 25% and selling price
&, 7@ Ay T oY 9 HE 9 e is increased by 20%, then the profit
afs qa ifehd g9 ¥ 450 A e fart becomes double the previous profit.
L & If original marked price is ¥ 450, then
(A) %375 origmal selling price is :

(B) 350 (A) %375
) (B) 7350
(C) %315
(C) ¥315
(D) %400 (D) % 400
2-D [10]




16.

17.

TH G9 GgYS F Aafs HIv IHh
UF @’ R0 H 4 " 30 A
¥ e g § Tl & gEn
HIfT -
(A) T2
(B) 54
(C) 90
(D) 48

P3 % 1,12,000 F 5 & TFH MR &
feran 1 2 7EH Fa O T 80,000 = YSi
# Ty =R wire €@ wn s fw
2 7€M g R ¥ 72,000 Fi St & €Y
R § e 8 T e IE e
F 10 mgH & Q 3 T 8,000 999

fow sk R 7 o % 8,000 FrEe faw

Ifg O T 99 & 39 F @Y H M
e F w1 H ¥ 11,900 9= Y, @ F

oy &1

(A) ¥ 33,600
(B) ¥ 40,800
(C) ¥ 37,500

(D) 43,200

16.

17.

The interior angle of a regular polygon
is 30 more than 4 times its one exterior
angle. Find the number of diagonals m
this polygon :

(A) 72

(B) 54

(C) 90

(D) 48

P started a business with a capital of
T 1,12,000. After 2 months, Q joined
the business with a capital of T 80,000
and after another 2 months, R joined
the business with a capital of T 72,000.
After 10 months from the start of the
business, O withdrew ¥ 8,000 and R
also withdrew ¥ 8,000. If Q received
¥ 11.900 as his share in the profit at
the end of a year, then the total profit

was !
(A) ¥ 33,600
(B) X 40,800
(C) 37,500

(D) 43,200

2-D
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18.

19.

Todent a9 =t Ol &, foraert et wamn
A gt ¥ W oS o |en §, e
g wieal § oo #1g e Tet € e
wifeish Wl =T TS AT fiieR 1 e T
3feq 3 =91 Far F g § 1 59 S
wet e 4 g8 ¥ oit It 9 afear
R w9 ¥ | 3fea a1 U 9 R wE
321 ¥ | e @i wfa wim w1 afedr
2 | gy arfaanfea 1 i e | FE
Halferg & 7
(A) =2
(B) #f
(C) =t

(D) =&

s fAfv=a ECERIL] 'Ef, ‘Look their
books’ #! ‘la me gn’, ‘Our books look

~good” F! ‘nx gn me ak’ & ‘Publish

their good books’ ®I ‘me nx la fs’ &%
w9 ¥ geag forar < ¥ |

(feuquft : Tt 2 Fae TI-39&R F Fe
) '
St e M #, ‘Their look’ % fog
Tuiferd e 1 8 ?

(A) nxla

(B) fsgn

(C) nxgn

(D) gnla

18.

19.

Priyanka is the granddaughter of Ajay
who is married to Natasha. Manish 18
the brother-in law of Ajay who has
two daughters but no son. Rohan is
the eonsin of” Kartick and hrother ot
Priyanka. Udit and Vansh are the sons-
in-law of Natasha. Vansh is married to
Karishma and they have two daughters
and one son. Udit has one son and
one daughter. Tanisha and Smriti are
the daughters of Karishma. Manish 1s
unmarried. How is Karishma related
to Rohan?

(A) Daughter

(B) Mother

(C) Aunt

(D) Sister

In a certain code language, ‘Look their
books” is coded as ‘la me gn’, ‘Our
books look good’ is coded as ‘nx gn
me ak’ and ‘Publish their good books’
is coded as ‘me nx la fs.

(Note : All codes are two-letter codes

only)

What is the probable code for “Their
look’ in the given code language?

~(A) nxla

(B) fsgn
(C) nxgn

(D) gnla

2-D
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20. T e &1 o 3R U faeiet & R 20. The radius of a sphere and that of the
&l foogr suar ¥ fodi=tr & um =1 base of a cylinder an% equal. The ratio
forem st faeiet #t 9 &1 sE of the radius of the base of the cylinder
7:9% 1Tt & 76 &I faeiet & a:rma:r and the height of the cylinder is 7 : 9.
Y I PN ? | What is the ratio of the volume of the
) 140 sphere to that of the cylinder?

. (A) 81:49
(B) 1:1 '
B) 1:1
(C) 28:27 © 28:27
(D) 27:16 (D) 27:16

21.. gfe w5 =afaq 56 et H= =t 7fa 9 21. If a person travels at a speed of
IR AT €, T T8 G W T T a6 56 Wh, he will reach his destination
ﬁgﬁ'lm'agmwﬁﬁ’l% - g on time. He covers %uf. his journey
g H QU A | GG W 9 e in g-ﬂftim& At what speed (in km/h)
GED tré'?% &+ fow 9w {ﬁ FTAFHF Shﬁuld he travel to cover the remaining
foe =& form nfa (fedt. o o) | qIE distance to reach his destination on
AT =fey ? time?

(A) 96 (A) 96

(B) 84 (B) 84

(C) 75 (C) 75

D) 68 (D) 68
2.0 [13]




W . 22 3T 23 & forw fdor: -
frfafas afererr & ssga = 99l & S
Sifere

Wﬁmmﬁfﬁ%ﬁﬁﬁﬁﬁaﬁ
T F41T U Hi i HEA 9T ©
Y

A B cC | D
a9 |
2017 52 | 53| 65| 69
2018 66 | 87 | 42 | 76
2019 s9 | 84 | 80 | 33
2020 73| 19 | 23 | 81
2021 2 |5 | 92 | 4

22, ke faemst g <@ B ¥ 2019 3R
2021 1 3w D #H 2018 3R 2020 H
T M FA G AW A H 2017 3R
2020 @ =W C H 2018 R 2021 #H
S T et Tl R S 1 € 2
tA) 9:16 |
(B) 7:8
(€) 34
(D) 11:13

Direction for Question Nos. 22 and 23 :
Study the given table and answer the
questions that follow :

The table shows the number of runs scored

by a cricket player in different countries in

different years :
Country—
ear] A B | c| D
2017 52 | 53 | 65 | 69
2018 66 | 87 | 42 | 76
2019 50 | 84-] 80 | 33
2020 73 1 19 | 23 | 81
2021 42 | 55 | 92 | 4

22, What is the ratio of total runs scored
by the player in country 4 in 2017 and
2020 and in country C in 2018 and
2021 to the total runs scored by the
player in country B in 2019 and 2021
and in country D in 2018 and 20207
(A) 9:16
(B) 7:8
(C) 3:4

(D) 11:13

2-D




23. ¥ 9= a9l & SRA fora 2w o faenet | 23. In which country did the player
Fa e waifas o a2 score the maximum number of runs
in aggregate during these five years,
(A) B tﬁken together?
(B) D (A) B
©) 4 (B) D
©) 4
(D) C D) C
24, f3U T UM N AAGES AT S 24, Study the given graph carefully and
T 9 1 IR ST answer the question that follows :
TH [EH A g H Fa q@l = 2520 Total number of pages in a book =
2198 9 € T su=m o= el § @ og 2520. 1t is known that the novel is
fea T 1 completely read in five days.
W fe -qﬁ;-taﬁ ae Degreewise distribution of
gt &t feaitamt famwor pages read on each day
g e ot <9 A vg T ot gl i What is the difference between the
e § 9 S g ? ‘ number of pages read on Day 2 and
Day 47
(A) 119
(A) 119
(B) 147 (B) 147
©) 133 (©) 133
(D) 98 (D) 98
2-D [15]




25. 5HREH AR 6w wHA T 1558 13fe

26.

T AIZe I HI9d T 2,50 5 S Wt &
R TH T A FHa 7 1.50 Fg1 & At
¥, M 8 A Ad 7 99 W Wy 210
A S ¥ 17 g i 4 W w g

Wﬁf?ﬁ)w%?
(A) 184

(B) 162
(€) 175

(D) 198

= 2R 9T & 34 et Hie W 36.4%
<t & 1 vy o S @ 8 W T
aiftad &1 S € 1 Her = 6 T
wierer s=rar & ?

(A) 44.8%

(B) 52.7%
(C) 47.6%

(D) 44.2%

25.

26.

Tﬁe cost of 5 notebooks and 6 pens
is ¥ 155. If the cost of a notebook is
decreased by ¥ 2.50 and that of a pen
i3 increased by ¥ 1.50, then the cost

of 8 notebooks and 7 pens becomes

- ¥ 219. What is the original cost (in ¥)

of 7 notebooks and 4 pens?
(A) 184
{.B} 162
(C) 175

(D) 198

There is 36.4% sugar in the 34 litres
solution of sugar and water. After
boiling 8 litres water get evaporated
from it. What is the percentage of

sugar left in the solution?
(A) 44.8%
(B) 52.7%
©) 47.6%

(D) 44.2%

2-D
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27.

28.

TEY X 3R Y UF S&F & 10 HE IR
15 ¥ ¥ FHE: W WH €, 3R Wy Z

e frelt Uy # | afE i aEdi B

I @ fem s g, dsFE R A H X
3R Y R U | fore T g | (Safs

fraemedt TRT 7 ¥) l?%ﬂ%aﬂ“wmﬂ
RA ol ) ol ud My J% Ue & v

e % i o S = A R
ST E 991 Z ) Wi fen A €1 37 Z
3F F) Wl T EFAE

(A) 155 F

m)w%ﬁﬁ

€) 105 H

(D) 12%_-;4%1?;

TF -gu & SiEn PO IR AW RS
(F% O % §) TH-TH H fag TW
yiqedg 4 & fag o ™ € $iR OT

0 T B < e § | A For PTR =
42°%, M AT POR FIAM R :

(A) 96°
(B) 126°
(C) 108

(D) 110°

27. Pipes X and Y can fill a tank in

28.

10 hours and 15 hours respectively,
and pipe Z is an outlet pipe. If all the
three pipes are opened together, it

1 _
takes 2; hours more than the time

taken hy X and Y together (when outlet
pipe iv lused) (o [l e tauk. X and I

1
are opened together for 35 hours and

then both are closed, and Z is opened.
Now Z can empty the tank in :

(A) 15 hours

(B) 1?1 hours
2

(C) 10 hours

(D} 12% hours

A chord PQ and a diameter RS of a
circle (with centre O) are produced to
intersect each other at a point T and
QT is equal to the radius of the circle.
If angle PTR = 42°, then the measure
of angle POR is :

(A) 96°

(B) 126°

(C) 108°

(D) 110°

2-D




29. fe@mm o Wt -3 SMERT 29. Which shape can be made by

ITM wE B Y ¥ 59 amR w1 assembling all of the individual shapes
ERiR IR shown?

A, A

[ A
(A) | | | (A)

p

(B) l | (B)
- (© ] | ' ©)
O) | | (D)

2D . [18] .




30, Fred g Tt wee e AR R 30. Which pattern can be folded to make
TS (FE) Y TR S TEA 2 : the cube shown? |

'e

@ “’ R

(A)

©) ;! | ©)

(D) (D)

2D -. [19]




31. U THMGR T 9% =l ﬁ'ﬁﬁl'ﬂ@, AT 31. A shopkeeper keeps the marked
e W 40% s T@ar € 1 afg ag g ~ price of an article 40% above the
6.5% ¥ TG 15.5% T 21, Eﬁﬁw cost price. If he increases discount
378 0 81 g o 7 i T " from 6.5% to 15.5%, then the profit
® 27% % g2 31 8, 9 9 Fea A would decrease by ¥ 378, I-T{‘.mi{r much
2 profit would he earn if he gives a

discount of 27% .on the marked
(A) T60 | price?
B) ¥ ?8. @) TG0
' (B) ¥78
(C) T48 (C) Z48
D) %66 (D) %66

32. TF V1 I < GUH i i H | | 32. A loan is to be returned in two
fora < & | afe = T wX 15% wid o equal yearly installments. If the
: S ﬂﬁﬁ w9 § gafed € ot v rate of interest is 15% per annum,

| frm ? 5819 ¢, g ¥ =S cnmp-:-}undcd . annually and # each
(T % ' ipstallment is T 5,819, then the total

interest charged (in ¥ ) is :
(A) 1,866
(A) 1,866
(B) 2,178 (B) 2,178
(C) 2,028 (C) 2,028
(D) 2,264 (D) 2,264
2-D [20]




33.

i sfumes fer € fawsd 9r dF
Fserd 1. 1T v 111 fog o &1 st
H TH HFd g WA T Y WA w0 Y
mﬁwfﬁﬁaﬁuﬂﬂ?ﬁﬁ,ﬁﬂhw
& FE-Tv8 Frerd stfiery=T =1 amfdes
T Y STV B E/ ARG

iRy -

T A a2 E |
F5 il e € |
|} geEd eo §

freamd

1. _@hﬂ?ﬁ‘%ll
L, . et stedt Hieeat €1
1. ﬁéﬂ%ﬁ%

(A) Tak frepd 1 &R 111 S @ €

(B) ﬁﬁﬁw&naﬂzma@wmﬁ

¥
(C) T forespd 11 ST sl €

(D) fak e 1 e s &

- (®)

33. Three statements are given, followed

by three conclusions numbered I, II

and I11. Assuming the statements to be

true, even if they scem to be at variance

with commonly known facts, decide

which of the conclﬁsiuns logically

follow({s) from the statements :

Statements :

Some chargers are batteries.

- Some batteries are mobiles.

All mobiles are tabs.

Cuuclusi{ms 1
[.  Some tabs are batterics.

I1.  All batteries are mobiles.

1. Some tabs are chargers.

Only conclusions I and 1T follow

(A)
Only conclusions II and III

follow
©)

Only conclusion IT follows

Only conclusion I follows

(D)

2-D
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WE H, 34 | 36 o for Fcer
< T TR W AYES Gt I T T
% SmA |
hifden wsh st farg A § FE 3 = ¥
g% =far § 30 fdft, s farg B 4 wd e
& ofi forg C 7 50 Frrft. e & 1 o/ TR <
A € S 60 ferel. SRR forg D | A e
% ofit farg £ ok 50 fepsl, <t € 1 59% 5 92
forg £ grd g # i 20 foreft, et farg
¥ o gu W & 1 9% 150 AL e fag 6
ﬁm&wm%aﬁtfﬁ@qﬁsaﬁ.‘w
TR ST € | |
34, g AT addfag D dg?.
(A) oty
(B) 3w

(C) W
(D) af-ye
35, fag H o B P o 1 =
FE? |
(A) 100 fet.
(Bj 150 fermit,
(©) 170 fwet
(D) 90 ferrtt.

Direction for Question Nos. 34 to 36 :

St dy the information given below carefully

and answer the questions that follow :

Kartick starts moving in a car from point 4.
He moves 3U km to the south and then turns
left from point B and moves 50 km till point
C. He then turns right and moves 60 km
and then turns leﬁ from point D and moves
50 km till point E. He then turns right from
point £ and moves 20 km and then tumns
right from point F. He moves 150 km and
.then turns right from point G and moves

80 km till point / and stopped.
- 34. In which direction is point ) with
respect to point A7
(A) South-west
(B) - North-east
(C) North
(D) .SDuth*uast |
35. What is the shortest distance between
point A and point F7
(A) 100 km
'_(B) 150 km
(C) 170 km

(D) 90 km

2-D | [22]




36.

37.

fog G & ded ¥ fag C fom fam
FR?

(A) ST

(B) IW

©) wfem

(Dj <feor-afy=m

< Yhfsd gul st oA wAw: 12 949

3R 37 T, & | 92 99 F <1 R I
! TIYi-TEl gt & | Sien wt weg Je

- Fife

38.

(A) 35 T,
(B) 42 T,
(C) 48 T,
(D) 70 F.

Wﬁwﬁaﬁwﬁaﬁwgﬁ
T AT T 1| S IROEEY 9
o Ffe off | 39 e A % FRU W H
gfv e (3 ea WHEf 9% F8)
FNE?

(A) 97.44%

(B) 98.77%
(C) 94.24%

(D) 91.56%

36. In which direction is point C' with

37.

respect to pc}iﬁt G?
(A) North-east
(B) North

(C) South

(D) South-west

The radii of the two concentric circles

are 12 cm and 37 cm respectively. The

chord of the larger circle is the tangent
to smaller circle. Find the length of the

- chord :

38.

(A) 35cm

(B) 42cm

(C) 48 cm

(D) 70cm

A number was divided by 9, instead of
being multiplied by 9. As a result of
this, there was an error in the answer.
What is the percentage difference
(correct to two decimal places) in the

answer due to this miscalculation?
(A) 97.44%
B) 98.77%

(C) 94.24%

(D) 91.56%

2-D
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39. frfafaa snafa § el @t den 9@
F |

(A) 32
(B) 30
(C) 28

(D) 25

40, fora aui o 2 1,25,000 = TR 16% 9fd
a9 & &1 Y 7 1,57.464 B 9§,
afg = THaIftie &9 § Hated fwa

EiGIE,

(A) 2599
(B) 1.5
(C) 2o

(D) 34

39. Find the number of triangles in the

given figure :

(A) 32
(B) 30
(C) 28

(D) 25

40. In how many years will a sum of
7 1,25,000 become ¥ 1,57,464 at 16%
per annum interest, if the interest is.

compounded half-yearly?
(A) 2.5 years

(B) 1.5 years

(C) 2 years

(D) 3 years

2-D

[24]




41. frfafaa 9 9 sF-d den 7 e 41. Which of the following numbers will
T ye fog (?7) #t wfaeenfa s ? replace the question mark (?) in the
13, 34, 74, 170, 290, ? given series?
13, 34,74, 170, 290, 7
(A) 414 A) 414
(B) 458 (B) 458
(C) 3#5 (C) 375
(D) 389
(D) 389
42, 72 AR A ¥ W wd9 § 9 w5 ol 42. Several litres of water were drawn off
T feRTen T 3R waE W H gy wdA a 72-litre vessel full of water and an
o figen fear man fee 9 999 w0 o equal amount of milk added. Again
frrgor i feTen T 3K ¥ fietran 4 the same volume of the mixture was
RvTREEEY A | 32 de Y6 I © drawn off and replaced by milk. As a
4T | 3y B g g e T ? result, the vessel contained 32 litres of
pure water. How much the water was
(A) 18 e drawn off initially?
(B) 16 @t (A) 18 litres
B) 16 litres
(C) 20 = B)
(©) 20 litres
(D) 247 (D) 24 litres
43, gfe o7l =2352% @ SFHw AR | 43, If 71— 771 =2352, then what is the
1 T 2 value of 5% ?
(A) 625 (A) 625
(B) 3125 (B) 3125
(C) 15625 (C) 15625
(D) 25 (D) 25
2D ' [25]




mﬁ.uff%%fﬁqﬁ%w:

& T S mm:q‘aawﬁmm

& I G

K, I, M N, D,PaﬁIQHIH % 9 dHq T
F F U A fmu ¥ w95 5w
RREEENE R

NﬁgamﬁmwmﬁﬁﬂL %
ww%no%mr@mwﬁﬂw
K& F A st # ven ¥ T K
it L 3 i o & wow @ T ¥ o
for g A P % die W@ TR Q)
0 sl K & A4 ¥, g T T A A
4

44. NF R o alau g7

Direction for Question Nos. 44 to 46 :

Read the following information carcfully

and answer the questions :

Seven boxes named K, L M N O, P and
@ are arranged one above the other but not

necessarily in the same order.

N is placed on one of the places above O

but below L. The number of boxes placed
above ( i1s one less than the number of
boxes below XK. Only two boxes are placed
between K and L of which the Se_mnd
box is immediately placed above P.Qis
placed below both G and K, but it is not the

lowermost box.

44, How many boxes are placed below N7

(A) =R (A) Four
®) (B) Two
(€) o= (C) Three
(D) & (D) One

45, Frafafas § @ SR A =@ 45. Which of the following statements is
g7 - truc?
(A) | P S g o § (A) Two boxes-are placed above P
B) 0, MFFF @ (B) Qis kept immediately below M
(C) L w&en o ated & (C)" L is the topmost box
(D) IR Tt - (D) All of the above

2-D [26]




46. afe afagi &1 719 ¥ S 9% JUiTRA §

47.

wrafted o s ®, O e § 9 fem
e w1 frafa smfafda @ ?

(A) K
®) 0

©) 0

D) L

& gaera =SS H, PO || SR, PO =
7 31, SR=11 ¥, ¥ 3l PO 3R SR

% =" 1 gl 4 @l § 1 T e U, Fwh:

PSR QR & v fag 1 fag O™
e % faw SP 3R RQ &1 sigrn i
I AEL S oruﬁm(aﬁ o, #)
ERIE Y

(A) 45
(B) 40.5
(C) 54

(D) 49.5

46. Ifthe boxes are arranged alphabetically

47,

from bottom to top, then the position

of which of the following boxes will

remain unchanged?

(A) K

(B) O
(C) O

D) L

In a trapezium, PQ || SR, PO =
7 cm, SR=11 cm and the distance
between PQ and SR is 4 cm. T and
U are the midpoints of PS and OR,
respecti-.éély. SP and RQ are produced
to meet at point O. What 1s the area

(in cmz)l of triangle OTU?
(A) 45

(B) 4[}'.5

(C) 54

(D) 49.5

2-D

[27]




48.

49,

39 Tageq 1 997 #{ 999 den 92

- FET TRy TR A § ey T He 6

BRI AT fofeT SIren ¢
(4, 24, 648)
(A) (7, 63, 4095)
(B) (2,8,99)
©) (3, 15, 270)
(D) (5, 30, 990)
‘A +BHAGG A BT
4%B 1 37 & A, B e &
‘A$R’ I éﬁi T4, BT g’

MPHLSU%TEN+TE A
frafafan # 4 wH-w1 ke Toa
7?2

(A) U NRTT#

(B) T, % o &
C) U PRAE
(D) .L, T AF &

48,

49,

Select the option in which the number
set shares the same relationship as that

shared by the given number set :
(4, 24, 648) |

(A (7, 63, 4095)

(B) (2, 8,99)

(©) (3,15,270)

(D) (5,30,990)

‘A + B’ means * A is the husband of B’
*A%B" means ‘A is the father of B’

‘A$B’ means ‘4 is the mother of B
If°P+L$U% TSN+, then which of

the following statements is incorrect?

(A) U is the maternal grandfather

of N

(B) T is the mother-in-law of /

(C) Uis the son of P

(D) L is the maternal grandmother

of T

2-D
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50. t% faftaa $e W §, ‘SPRING’ 50. Ina certain code language, ‘SPRING’
@ ‘RTOQQSHIMOFH® # air is coded as ‘RTOQQSHJMOFH’
‘WATCH’ &I ‘VXZBSUBDGI’ & and ‘WATCH’ is coded as
w0 0 w fran mam &1 3 W ‘VXZBSUBDGI'. How will
# ‘MODERN’ @1 %3 gd9d e ~ ‘MODERN’ be coded as in that
e ? - language?

(A) LMNPCEDFQSMO (A) LMNPCEDFQSMO
(B) LNNPCEEFQSMO (B) LNNPCEEFQSMO
(C) LNNPCEDFQSMO " (C) LNNPCEDFQSMO
(D) LNNPCEDFQTMO (D) LNNPCEDFQTMO

51, T € IR I QA S aver feafoat w 51. Two different positions of the
T T €, S 9% wasl WK, P, same dice are shown, the six
R, H, U 3R Z 3ifdd € | 39 18R/ &1 997 ~ faces of which are marked
& W H S 9l el o fauid as K, P, R, H, U and Z. Select the letter
FeTdh T that will be on the face opposite to the

face showing the letter H :
H P
R K H P
P U P K
P U
(A) I
(A) 1
B) K ,
(B) B) K
€) R (©) R
D) U (D) U
2D [29]




52. Fretferfn 3 #-4 won 4 s

o v fag (7) F1 wiaeanfia saf ?

352, 285, 7, 165, 112, 65

52. Which of the following numbers will

- replace the question mark (?) in the

given series?

352, 285, 7, 165, 112, 65

(A) 198 (A) 198
(B) 224 (B) 224
(C) 219 (€ 219
(D) 232
(D) 232
53, fe faramedt P, O, R, S @R T sfem-siem | 53. Five students P, Q, R, S and T study
et U, V, W, X iR Y 8 ved €, aifed in different schools U, ¥, #, X and Y,
A Tl 69 e w9 H 2 | TdE but not necessarily in the same order.
foeneff, fuh, famm, sfaem, ‘lﬁﬁﬁ 3 Each one likes only one subject, viz.,
o § § fok e fava wHg w2 English, Science, History, Geography
R, U H 9 gl 0 ‘*ﬂﬁ?l TR:I?;’ EHICTG and - Mathematics. R studies in U.
S @ sfaem wg € R aE VH wRa el O does not like Geography, S likes
Y % famndf =1 fagm wig & 1 71 37 History and studies in V. The student
THE R, WG AR A A WA Y M BHA T of Y likes Science. T likes English, but
O WHTEM?| he is neither from W nor Y. Q studies
' in W.
frefafaa o 9 forg faenedt =t v v ,
#7 | Which of the following students likes
Mathematics?
(A) W
A) W
(B) ©
| B) O
© R © R
D) P (D) P
2.D [30]




WY W@ 54 31T 55 & fer frdr -

& TE ST W A TgE freffa
el 3 TR G |
o8 A U, V, W,X,.rﬁrzw-m
AR FE

U, VSR WE A 1Y, Z SR U
T X § B2 & %o < =i Z 9 B £
figfter watiferes @il wife 1 o 175 9. &
V wa® Bl 181 ¢ | .

54. U9 w4 fopea @im € 2
(A) =
(B) T
(€) =
(D) Sugwd H AHE Tl

55. X @1 dwifaa o a1 ¢ ?
| {A-) 178 &,

(B) 170 .

(C) 165§,
. (D) 1?2@:?:;

Direction for Question Nos. 54 and 55 :
Study the following information carefully
and answer the questions given below :

Six persons U, V, W, X, Y and Z arc having
different heights.

U is taller than ¥ and W. Y is taller than Z
and U, but shorter than X. There are only

two persons who are shorter than Z. Second

‘tallest person has a height of 175 cm. V' is

not the shortest person.

54, How many persons are taller than U?

(A) Four
(B) Two
(C) Three

(D) None of the above

55. What is the possible height of X?
| (A) 178 cm
(B) l?"U cm
(C) | 165 cm

(D) 172 cm

2.D [31]




A9 9. 56 W 58 % forw fodar

FrrAfefae g=m = mﬁﬁwﬂﬁmuﬁ
FIWE : |

A AP, O, R, S, T. LI, V. W, X % Y7
TR 3§ | T W T T I GO T
I IR e FF IS T | =R g | e
F 3R §f F0F el 99 ¥ aifm B m A
< Pl fm # #i e w0s 43

R, S%aﬁmwmh%lﬁﬁé
feam #Y ain e F 93 € Sl o 4
s 8K W A3 71 7, T e <l =it

aiﬁ_ TREFAN DI WA WIS ITAR Y

F o4 3 & @ A4S ¥ e R vl Y
= 33 ¥ < Fr R 3 and d1 31 v e
eIt F e TaE faen &1 SR ¥ (= @ g
* e = SR AWIM A SO 1 U,V
% a1 = T W e ¢ 1 Q AN W H 7 Tl
wfed o3 € | O % Ye ofeon &t S T8 g v
% Frerean wEifaal =1 g faudta famn =t &K
¥ (U I Y ST A IR €, TEH T F e
afe 1 S & M T fAE) | PSR U, T

& Frpeam TRl € 1P % S0 e WH WY

¥ T % frorean yord fauda feom =1 siw g
H0h 45 € 1 U VR U femn g fRu €

Direction for Question Nos. 56 to 58 :

Study the following information carefully

~and answer the questions that follow :

Ten people—P, O, R, S, T, U, V, W, X and
Y are sitting in a row. Some are facing north

and some are facing south, Not more than

four people are facing south. Persons sitting

at the extreme ends are facing the opposite

directions.

R sits third to the left of S. Both are facing
the same dircction aﬁd one of them sits at
the extreme cnd. 7, who faces south, sits
fourth to the left of R. There are as many
people sitting between Tand I as between V/
and ¥, who sits to the right of R. Immediate
neighbours of Y face the same direction
(either both are facing south or both are

facing north). U sits fourth to the left of V"

. Two people sit between ¢ and W. O 1s not

facing south. Immediate neighbours of V arc
facing the opposite direction (one is facing
north while the other is facing south or vice
versa). P and U are immediate neighbours
of T. X is third to the right of P. Immediatc
neighbours of 7' are facing the opposite

direction. £/ Taces the same direction as Y,

2-D




57.

D) W

REF AT A w wEn__ wan
&3 Sl 1 e & T ¥

wfaa fowed @ fom @M W O9R
T '

(A) W

(B) O

cy P

(D) Y

. W R gafim ¥ 3R T X 4§ Hafud

gl wg , A H @ =R PR
Hefig £ 2

(A)
(B)
© S

(D)

X
y

56.

58.

Find the odd one out :

(A ¥

®) P

€ X
o w
Number of people sitting to the right of

R is equal to number of people sitting

to the right of :

‘Fill in the blank with appropriate

option :
(A) W
@ 0
C) P
(D) ¥

W is related to R and T is related to
X. In the same way, which of the

following is related to P?
(A) X
(B) Y
© s

D) ¥

2-D
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59, ¥ sifumeHl & =1 o4 fed Faiw

I, 11 3R 111 fgg e %1 9= 9 3¢ f
ARy ¥ €, wet g1 9 9 w9
maﬁfﬂfwmﬂﬁﬁ,ﬁﬂhﬁﬁr
-1/ 3 Freed atfirme &1 @ifds 9

 H STTER A B/

AR :
FOWITE!
@ﬁ?ﬁﬁ%l
Tt | uftam €1

e

L FO IR €

II. @T_ﬁqﬁmﬁq%‘l_

. o sigicg

(A) Tl fee 11 sraTor & &

(B) fad fshed 1 7R 111 T9aRw &%d §

fads s 11 3R 111 38R0 3
€

(©

(D) ok frrsewed 111 Srqeor am &

(A)

59. Three statements are given followed

by three conclusions, numbered I, II
and III. Assuming the statements to be
true, even if they seem to be at variance
with commonly known facts, decide
which of the conclusions logically
follow(s) from the statements :
Statements :

Some shirts are pants.

Some pants are jeans.

All jeans are garments.

Conclusions :
I. ~ Some garments are shirts.
II.  Some garments are jeans.

[lI.  Some jeans are pants.

Only conclusion II follows

Only conclusions I and III follow

(B)
©)

Only conclusions II and III

follow

(D)

Only conclusion III follows

2-D

[34]




60. 39 fomeq &1 =94 =L < 990 T@n 9 60. Select the option that is related to the
36! YR Haifea €, fom vem gad dem third number in the same way as the
gl gE | Hefua € - second number is related to the first

number :

8:448::13:7
- 8:448::13:7
A) 1859
(&) (A) 1859
(B) 845 (B) 845
(C) 1521 (C) 1521
(D) 2028 (D) 2028
61. fou e e =1 wamge® s1eaaa & 3R 61. Study the given pattern carefully and
3G e & 999 F Sl I qearas select the number that can replace the
fag (7) =i wfaeeanfua &1 9% - * question mark (?) in it :
57 12 | 195 57 12 | 195
73 19 | 257 73 19 | 257
42 23 ? 42 23 ?

(A) 153 (A) 153

(B) 197 (B) 197

(€) 172 (C) 172

(D) 215 (D) 215

2-D [35]




62. 34 fawey &1 999 +{ I @Oy 3ER-

63.

g ¥ It R defya ®, fag gan
T HHI-TE Ugel J1aR-TE § Hafd
g |
GARMENT : TRNMGEA : :

YOUNGER : ?
(A) RUENYGO

(R) YTURNOGE
() RUYONEG

(D) YURONGE
T W < =R dfedl 1 3w 2 § 4
g1 df 1 H o, fazg, wem, @dw
3fr T féror kT 3 He ek 9 ¥ ofi
e 2 # Sfett, T, g, 1] o fame
I FI AR e FF WU 41 € 5
ufgd 1 &1 YA e ufdd 2 & U™
& AWA-IWA ¥ | Ut % A SR
W #St ¥ 1 3HH qg fagg & Frrean
TSRl T 3R T | e, faeg & e s
et wh TR W oer § afes i %
sifem B8R W 72 ¥4a1 ¥ | 98 =afam foma
He WeM &t 3R €, 1] % s 91§31
T W, e % gl A S WHE W
31 ¥ | Siett, W1 T dieh ol Set |

oo & s -wrA B E?

(A) fog
(B) wd=

(C) &qa
(D) A

62. Select the option that is related to the

63.

third letter-cluster in the same way as

the second letter-cluster is related to

the first letter-cluster :

GARMENT : TRNMGEA : .
YOUNGER: ?

(A) RUENYGO
(R) YURNOGFE
() MITVONPG
(D) YURONGE

Ten people are sitting in two parallel
rows 1 and 2. Anuj, Bittu, Farhan,
Sarthak and Rajan are sitting in row |
facing the South and Dolly, Reshma,
Sana, Renu and Simran are sitting in
row 2 facing the North, in such a way
that each member in row 1 faces a
member of row 2. Reshma sits at the
extreme left end of the row. Reshma
faces an immediate neighbour of Bittu.
Farhan sits at one of the positions
to the left of Bittu but not sits at the
extreme end of the row. The one who
faces Farhan sits to the immediate left
of Renu. Sarthak sits third to the right
of Anuj. Dolly sits to the immediate
right of Sana.

Who faces Simran?
(A) Bittu

(B) Sarthak

(C) Anu

(D) Rajan

2-D

[36]




64. = afiEreHl & e 94 T #wEiE

I, 1T & 11 feu 7w €1 9% ard g
e e €, wot € 3 W w W
it nel & =t wefie B B, ol of o
F-4 frerd sifysre o1 s w9 9

FTEO A ©
TR :

F9 A5FH FRE |
T8 FRIG |
Yt N G ¢ |

foreand
[ FOARATEHC |
1, 099987 ¢ |

[l 8 a%d ®RT |

(A) T fred 1 3fit 11 s &t §

.{B] fak frepd 11 &R 11 s/gE
EZOR

(C) Tads faepe 1 3K 111 1 %td §

(D) =t fswd 1, 11 &R I 3798
TGRS

64. Three statements are given followed

by three conclusions, numbered I,
II and III. Assuming the statements
to be true, even if they seem to be
at variance with commonly known
facts, decide which of the conclusions
logically follow from the statements :
Statements :

Some bikes are cars.

Some cars are buses.

All cars are vehicles.

Conclusions :
I. Some vehicles are bikes.
II. Some buses are vehicles.

III. Some vehicles are cars.

(A) Only conclusions I and II follow

(B) Only conclusions II and III

follow
(C) Only conclusions I and I1I follow

(D) All conclusions I, I and III

follow

2-D




65. B& @m—ygfa, TEe, o, i, dies

66.

R gel 1995 & 2000 T FEHT-3TA
auf % T gu ¥ | viaw @ 9w U fawm
¢ # gan #1 fra 3K uiew & &9 Q)
S 1w gl | g W fag 3
T S guHl & @ gan €1 g F
9 UH G694 § A%l g3 ¢ R fua
o BRI

foFrat 50 A 1998 H gam &2

(A) T

(B) wAm

(C) HfHa
(D) g

ue fAfved He wman §, afg ‘EXPRESS’
192" % ¥ H Htpd o wman & iR
‘FEELING® & ‘44’ % &9 § F2iga
far wmer €, o I 9w § CEMO-
TION’® %l ¥ H2iha feran smem ?
(A) 91

(B) 85°

(C) 77

(D) 105

65.

66.

Six people—Sumit, Rahul, Sushma,
Priya, Pritam and Khushi were born
in different yecars from 1995 to 2000,
Pritam was born in an odd year. Two
people were born between Priya and
Pritam. Sumit is born before Pritam
hut after Sushma. Rahul is not born in

an cven year and Priya is the youngest.

Who was born in the year 19987
(A) Khushi

(B) Pritam

(C) Sumut

(D) Sushma

a certain code if

In language,

‘EXPRESS” is coded as '92° and
‘FEELING" is coded as ‘44°, then
how will ‘EMOTION® be coded as in
that language?

(A) 91

(B) 85

() 717

(D) 105

2-D

1381




67. TF Fifvad g2, “TEAM F1 YN’

AN ‘REMAIN’ #1 “WNW’ ferman st
T34y # CLEFT' =1 %4 faan

67. In a certain code language, ‘TEAM’

is written as ‘YN’ and ‘REMAIN’ is

written as *“WNW’. How will ‘LEFT’

S ? be written as in that language?
(A) QZ (A) QZ
(B) NP (B) NP
(C) NZ (C) Nz
(D) QT (D) QT
68. U T fashal T TEIH T Iede 68 A bookseller marks his books at an
T AR @ W 56% ATg i advance of 56% on the actual cost
FAA ¥ T8 12% T G2 HI IHA <6 of production. He allows a discount
& &R ww W) ¥ 9 S 9l Yol guid of 12% and also gives a copy free
¥ fau & yfa fr.yes oft qm €1 9fg for every dozen sold at a time. What
g 12 & ©fe # 9= 96t 8, 9 9 percent profit does the bookseller
fagrar =t a1 wfava ey el & 2 make, if the books are sold in lots
of 127
(A) 26.72%
(A) 26.72%
(B) 20.96%
(B) 20.96%
C) 32.64%
© (C) 32.64%
(D) 18.33% (D) 18.33%
2-D [39]




69.

70.

el WEt & e wee 1 f{u (A), (B),

(C), (D) ® & wel fammeq =t

@ =% | () =t b g

(i) Tg-senm & =W &
S
(if]) s YHR & el

(b) =tE
() =i

(d) = | (v) 212 de & e

@ @& @@ @
(A) G @ @O ()
B) @) @) G @)

© @) G G @)
D @ @ @) ()
TG Weg AYTelt o1 o Y ?

(A) =t Yeen & frare
(B) <ISTAM & e
(C) % & WeR

(D) fouset

Tk

72.

73.

" Tl TUATe! el & HacTd
B9

(A) THL-TH FEA

(B) w9a &I

(C) eticnet 611

(D) S&R T

'TR-Ea BAEE! e & e HIA
T o B 7 2

(A) -

(B) 7@l

(C) @3-

(D) Zea:

FTAAG! 7 ' eAFSled’ F31 o F4 7

(A) @HE F sren g

(B) wHel Sl

(C) ey fertean T Weh & |t

(D) gofed & [a1 | °@1 ¥ w@H
BEIPED

2-D




74, TE el @ foend @ W fRu (A), | 76, ‘I9EE' W SR W F3IT el o
(B), (C), (D) fa&eq & Hel I dlell & A E ?
7 - (A) T
(@) @mm (i) AT (B) +udl
(b) ireredt (if) - Freft (C) wdl
(6) Fam (it a4 (D) T
(d) BYRIEE (iv) iRt
77, T o Wl Sersdl 9 S SuEe!
%‘:
T §d, AT
(@) (b) (c) (d) -
(A) T
(A)  (v) () (i) (7) |
; o . (B) fase=m
(B) (i)  (v) (i) (4)
© o G @) G (£} T
® v ) 6 i) (D) e
75, "wER e o for & 2 78. ‘T 3 A F O e’ T
(A) ifears 7Y ?
(B) fewmam=sh (A) i & S &
(B) ﬁwmmﬁm
(C) woaras
(C) 31 3 it |/ el a= 1
(D) YASHETER
(D) TmE aifyss €M
2-D [41]




79. TAWTE VR A FF e a9 ? | 82, 'gW M@ & wen W wEgd wi o
(A) AT @W?ﬁf%
(A) Tager
(B) =gmmit
(B) TR
(C) @™ 5. e
SHE (D) Tiffen
80. '127' @ SEEIEI W HEH el ? R 7
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